DS Window Guard
837-0428A

Rear Window Guard
837-0427A

INSTALLATION HARDWARE:

28x - 837-0148A Window guard Mnt Brackets
28x - #10 Self Tapping Screw

28x - #10-32 5/8" Round Screw

28x - #10-32 Nylock Nut

28x - #10 Flat Washers

REV. DESCRIPTION BY DATE APPROVED

PS Window Guard
837-0429A

NAME DATE B @ ELECTRONICS CO.iw RDé‘V'\‘QDR_ANSLA S‘ZEA
DRAWN N\% 22SEP14 £ v APRIL 1,2009

Path: \\server-file\data\MECH ENG\MECH_DESIGN\2015 Tahoe Rear WG\

CHECKED AD 22SEP14  File: 937-0336A

Date: Monday, September 22, 2014 7:48:49 AM

THE INFORMATION CONTAINED | DESCRIPTION:
WITHIN THIS DRAWING IS

PR b S hesoie " 2015 Tahoe Rear Window Guards

PROPERTY OF DandR
ELECTRONICS CO. LTD. IT MAY

NOT BE REPRODUCED AT WHOLE  MFC- NO. CATALOG. NO.
OR IN PART WITHOUT THE 937-0336A XXX
WRITTEN PERMISSION OF DandR | ysep oni
ELECTRONICS CO. LTD. 9XX_XXXX SHEET 1 OF 1
FINISH MATERIAL REV.
Midnight Black Wrinkle 16 ga CRS O



	Sheet1
	Drawing View1


